5. On One Note

(From "Slivers of Light")
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This is for those_who sing on one note._ This is for those who sing on one note, SO
This is for those who sing on one tone, SO
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o - thers are free to dream and to hope. So o - thers can sing all
o - thers can sing a  song of their own. This is for those who
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o - ver the scale. So o - thers can rest and sim - ply ex- hale.
sing on one pitch, who know up and down and know which is which.
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All works by Secretary Michael have been placed in the
Public Domain. They may be freely copied and performed.
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This is for those who  stay on one chord, SO  no one is lost, and
This is for those who  sing in our schools, who stay back to help their
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no one ig- nored. Faith - ful and stea - dy they drone on and on,
stu - dents get tools. We ho - nor  their work,___  their count - less re- frains. We
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ne - ver ap-plaud - ed un - til they are gone. This is my dream,
pro - mise their work has not been in wvain. This is my dream,
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this is my  hope, to swal - low my song, and sing on one note.
this is my hope, to swal - low my song, and sing on one note.
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